
Please retain this instruction for future usage and read carefully before assembly.

Make sure you have all the parts & hardware as item list shows.

3 adults or more are  recommended to install your Sunroom.

Do not discard any of the packaging until you have checked that you have all the parts and pack of fittings.

Check all bolts for tightness before use, and periodically check and tighten bolts ensure your gazebo works properly.

Some parts might have sharp edger/corners/Please follow basic safety precautions to reduce the risk of hurts.

Avoid installing and settling the solarium in a corridor of heavy wind.

Some assembly parts contain sharp edges, you should wear protective gloves when handling these items.

For safety issues you must not leave the unit unattended if it is not completed, even if it is already anchored to the ground.

It is essential to place the gazebo on level ground and not less than 6 feet from any obstruction such as fences,
garages,  overhanging branches, laundry lines, or electrical wires.
 

If you have questions or concerns.
Please contact us via email at service@domioutdoorliving.com

Warnings and Cautions�



d  mi
o u t d o o r  l i v i n g

Solarium Wall-Mounted
Sunroom

Copyright 2023-2025 Domi Outdoor Living LLC.All Rights Reserved.©

Assembly Manual

Domi outdoot living

SKU：LGMF1650

12'x16'



��
��
�
�
��
���

��
�

�����
������

����

��
��
�
�
��
��
���

��

���������������

LGFP1650



��
��

�
��
���

��
�

��
��

�
��
���

��
�

�����������

��
��

�
��
���

��
�

��������������

��������������

��������������

��
���

�
��
���

���
�

��
��

�
��
���

��
�

��
��

�
��
���

��
�

��
��

�
��
���

��
�

��
��

�
��
���

��
�

��������������

�����������

�����������



�hank you for your purchase of

Domi outdoor living’s Sunroom

Read and follow this assembly and operation guide.

To reduce personal injury and damage to you Sunroom 

Please remove snow accumulation at all times.

We recommend a three-person team for assembly and disassembly.

If you like our products, please tell other customers

If you have problem with our products, please tell us

Please feel free to contact us.

DOMI OUTDOOR LIVING d  mi
o u t d o o r  l i v i n g

Please schedule enough time to complete the assembly of the sunroom.

It will takes approximately 7 hours to set up.



���������������������������������
������������


��
	������ ��������������������������������������������� 
����������������������������������������������
�����������
������������������������������������������������������������������



��
	�����

��

������������������
������������ ��������������������������������������­����­����
­����­�����������������������������
�������­����������­����


������������
��������
���
��
	��	����	��������������������� ��­
����	�����������������������������������������������������������

�	�	� ��

	���
��	� ������������	�

	�����	����	����	��������������������� ��­
����	��	������������������������������������������������

����� 
��	���	�

�
�	����
� ����	� �
�	��������	� ��	��
��	�

�������������������������

�������������������������­����������
�����������������


�������������������������������������������������������������������
������
����������������������������
	����������������������������������



 ��



 ��



P3

P4
P3

P3
P3

P4 P4
P5

S1 S2

P3 P3

P4
P4

S1 S2
S3 S4

P4 P4P3 P3
Q2Q1P4 P4 P4

P3 P3 P3

������


������������������������� ����­������ ����������­����
�����������­�­
���������������­
�­��
�����­­���	��­�� ­�
������­������������������������������­�������­����
�	�



S1 S2S3 S4

P3

P3

P4 P4

Q2Q1

P3 P3P3

P4
P4

P4

S1
S2

P3 P3 P3

P5 P4 P4P3 P3

P4 P4 P4
P3

������

������������������������� ����­������ ����������­���������������­�­
�������������
�
����������������
­�����­������
����������­­���	����­����������������������������­�
���
­�����������­��		���­����­������	�­­������������	����������������	�	���­���������
���������������­��		�����������­
�­��
���	���­­���	��������­	������������������
��­��		���­����­����������������������	����������������	�������­�����������������

���������������­��		���­�
�����
��������	�­­���������������	�	���	�����­������������
�����������­�
�����
��������	�­­����������������������­��		��������­�
�����
�����������
�����������	�������	�����­����������������������������­�
�����
��������������������������
����
­��������������
­���������		��	­������� 	�������
�������­��		�������

�������������������­�����­	����������­������­­���	���������� �­�����­�­����������



















M6*16

M5*12ST4.8*13

M6*12(L20) M6*15(L30)

M6*40M6*28

M8*60

M8 M8

ST6*70

1#    6 2#   1 3#    48

4#  424 5#   34 6#    14

7#    2 8#    6 9#   16

10#   16 11#   1 12#   1

13#   1 14#   1 15#   1

M6*30

����� ������� �

��	���������	���



S4 S616#   1 17#   1

M6*30

M4*10 M4

19#   51 20#   51 21#   16

22#   16 23#   8 24#   34

S525#   1

M6

26#   6 27#   2 D18/d6

28#   1

����	���
�����
�­

������
­���� �



A2

A7

A1

A7

A1/A2

A7

4#

4#

4#

A1/A2

A7

M6*16
S4

A1    1X A2    1X A7    2X 4#    6X 16#    1X

�



A8

A3
A4

A8

A8

A3/A4

4#

4#

4#

A8

4#

A3/A4

M6*16
S4

A8    2XA4    1XA3    1X 4#    8X 16#    1X

�



A5    1X A6    1X A9    2X

S4

16#    1X4#   12X

A5

A4

A6

A3

M6*16

A9

A3/A4

A5/A6

4#

4#

4#

4#
4#

4#
A9

A5/A6

A3/A4

�����­
��������������������������
����������������������������������������

�



������������������­�
­������������� �­�������­��������		�������
�
�������������������� 	��­��������������
�
���
­������­�� ����­�­�� �

�



�������������������

�



�



�



�



M6*16

B6    1X 4#    2X

S4

16#    1X

B2B6

4#

4#

B2

B6

�



M6*16 S4

16#    1X4#    4X

B2

B1

4#

4#

4#

4#

B2

B3

4#
4#

4#
4#

B1

B3     1X

��



M6*16
S4

B1

B2

B8

B8

B8

B8
B8

B8

B8

B8

4#
4#

B1/B2

B1

B2

B8

4# 4#

4#    14X 16#    1XB8     7X

��



15#     1X

B1

B2

15# B1

B2

15#

�­��­�	������­��	����� ���������������������� ���������������������­

��



ST4.8*13

M5*12

B1

B2

B2

B1

1# 1#

2#

B7

S4

B7     1X 16#    1X2#    1X1#    2X

��



C1

C2

C3

C4

C5

C6

B6

B6

������������������

��



4#    8X 16#    1XC1     1X

M6*16 S4

C1

C2

4#

4#
4#

4#

4# 4#
4#

4#

C1

C2

C3

C2     1X C3     1X

MODEL1

���������������
����������­­���	����­����������������������������­����	��������­����­�������������
���������������������	�	���­������������������������������­��		��������������­����­�����������������­�
�	��­��­������������ ����

��



4#    6X 16#    1XC1     1X

M6*16 S4

C1

C2

4#

4#
4# 4# 4# 4#

C1

C2

C3

C2     1X C3     1X

MODEL2

��



C5     1X 16#    1X4#   10XC6     1X

M6*16
S4

C5

C6

C1

C2

4#

4#4# 4# 4# 4# 4#
4# 4# 4#

C5

C6

C1

C2

4#
C5

C1

4# 4#

C5

C6

C1
C2

4#
C6

C2

��



M6*16 S4

C6

C5

C2

C1

C4

C4

C1

C2

C5
C6

4#

4#

16#    1X4#    2XC4     1X

��



S4

B6     2X 4#    4X 16#    1X

M6*16

C5

C1

C6

C2

B6
B6

4#

4# B6

C5

C1

4#

4# B6

C2

C6

��



B6

D4

D3

D2 C3

C4 D1

B6

������������������

��



M6*16

D2

D1

D1

D2

C3

4# 4# 4# 4# 4# 4#

S4

D1     1X 16#    1X4#    6XC3     1XD2     1X

MODEL1

���������������
����������­­���	����­����������������������������­�������������������������­����­���������
�������������������������	�������­��������������������������­����­�����������������­��	­���������������­��		���
�	��­��­������������ ����

��



M6*16

D2

D1

D1

D2

C3

4#

4#

4#
4#

4# 4#

4#

4#

S4

D1     1X 16#    1X4#    8XC3     1XD2     1X

MODEL2

��



M6*16

D1

D2

4#
4#

4# 4# 4#

4#
4#

4#

4#

4# D3

D4

D2

D1

D3

D4

4#

D2

D4

4# 4#

D3

D1

D2

D4
4#

D3

D1

S4

D4     1X 4#   10X 16#    1XD3     1X

��



M6*16 S4

D2

D1

C4

C4
D2

D1

4#
4#

4#    2X 16#    1XC4     1X

��



M6*16

D1

D2

B6

B6

4#

4#

B6

D2

4#

B64#

D1

S4

B6      2X 4#    4X 16#    1X

��



B8
B8

B8

B8 B8
B8

E1

E2

C3

E3B9

E3

E1

E2
B8

B8 B8

B8
B8 B8

B9


�����������������

��



M6*16 S4

E2

E1

C3

E2

E1

4#
4# 4#

4#

4#
4#4#

4#4#

4#

E2     1X C3      1X 4#    10X 16#    1XE1     1X

��



M6*16
S4

E2

E1

B8
B8 B8

B8
B8

B8

B9

4# 4#

E1/E2

B8
E2

E1

4#
4#

B9

4#     14XB8     6X 16#    1XB9     1X

��



M6*16 S4

E2

E1

E3

4#

4#

E3

E1

E2

16#    1XE3     1X 4#    2X

��



B2
B1

C2

C1 D2

D1

A1

A2

A6

A3
A5

A4

E1
E2

E4

E4

��������������

��



M6*16

16#    1X4#     6X

S4

A1

B1

B2

A2

A1/A2

B1/B2

4#

4#

4#

��



M6*16
M6*12(L20) M6*15(L30)

8#     6X

S4
S6

17#    1X

A6

C2

C1
A3

B1

A1

B2

A2

D1

D2

A5

A4

C1/D1

B1/B2

8#

7#
A1/A2

A5/A6
8#

8#

C2/D2

4#

4#

A5/A6

C2/D2

4#

4#

C1/D1
B1/B2

A1/A2

4#    10X 16#    1X7#     2X

4#

��



M6*40

6#     8X 16#    1X

S4

A5

A4

D2

D1B2

A2
A1

C1

B1

A3

A6

C2
E1

E2

6#

6#

6# 6#

E2

A6

E1

A5

6#

6# 6# 6#

��



E4      2X

M6*16

16#    1X4#     2X

S4

A2

A4

A3

B2

D1

D2

A5
E1

E2

A6

C2

C1

A1

B1

4#

B1/B2

A1/A2

E4

C1/D1 ��



F1

F2

C3

B8
B8

B8

B8
B8 B8

F3

F3

B9

B8
B8

B8

B8
B8

B8
F2

F1

F3

F3

B9

��������������������

��



M6*16 S4

F2

F1

4# 4#

F2

F1

C34#

4#
4# 4#

4#

4#
4#

4# 4#
4#

C3     1X 16#    1X4#   12XF1     1X F2      1X

��



M6*16 S4

F1

F2
B8 B8

B8

B8

B8 B8

B9

B84#

4#

F1/F2

F1

F2

B9
4#

4#

16#    1X4#   14XB8     6X B9     1X

��



M6*16 S4

F2

F1

F3

F3

F2

F1
F3

F3

4# 4#
4#

4#
4# 4#

4#

4#

4#

4#

F1

F2

F3

F3

4#

4#

F1

F3
4#

F2

F3
4#

16#    1X4#   10XF3     2X

��



F2

F1

F3

F3

15#

F2

F1

F3

F3

15#

15#

15#    1X

�­��­�	������­��	����� ���������������������� ���������������������­

��



M6*16

16#    1X4#    2X

S4

F1

F2

B2

B1

D2

D1

A2

A1

C1

C2

E1
E2

C4

C4

C4

F2

F3

C1
C2

4#

C4

F1

F3

D1

D24#

��



S4
M6*16

G1

G2

4#

G1

4#
4# G2

G3

4#
4#

4#
4#

G1     1X 4#    7X 16#    1XG2     1X G3     1X

��



G2

G1 15#

G2

G1

15#

11#

15#

11#    1X15#    1X

�  	����­��� ��������� ������� ��� ������������������ ���������������������������		������� ������������¡�������­�	������­��	����� ���������

��



S4
M6*16

G4

G5

G4

G5

G3

4# 4#

4#

4#

4#

4#
4#

16#    1X4#    7XG3     1XG5     1XG4     1X

��



G4

G5

15#

G5

G4

15#
11#

15#

11#    1X15#    1X

�  	����­��� ��������� ������� ��� ������������������ ��������������������
�������		������� ������������¡�������­�	������­��	����� ���������

��



     7X

S4
M6*16

G6

G7

G6

G7

G8

4#
4#

4#

4#

4#

4#
4#

G6     7X 4#    49X 16#    1XG7 G8     7X

7X

��



G7

G6

15#

15#

G7G6

15#
15#

15#

11#

G7

G6

15#

15#
15#

11#

11#    1X15#    1X

7X
�  	����­��� ��������� ������� ��� ������������������ ��������������������
������
­��­�	������­��	����� �������������		������� ������������¡����������­���­�

��



S4
M6*16

D2

D1

A2

A1

B1

B2

F1
F2

E1
E2

C2

C1 A3

A6

A4

A5

G2

G1

G5

G4

E2/E1

G4/G1

G9
4#

4#
A6/A5 G4/G1

4#

4#

G5/G2

F2/F1

G9

G5/G2

4#
B1/B2 C1/D1

G9    4X 4#    10X 16#    1X

��



D2

D1

A2

A1

B1

B2

F1
F2

E1
E2

C2

C1
A3

A6

A4

A5G2

G1G5

G4 H2

H4

H1

H3 H5

H6

H6

D2H4

D1

B2

G2

F1

G1

H2

F1

H5C2
H3

C1

B1

G5

F2

G4

H1

H1    1X H3    1X H2    1XH4    1XH5    1X H6    1X

����������­�����¢��£�¢��������������������

��



S4
M6*16

D2

D1

A2

A1

B1

B2

F1
F2

E1
E2

C2

C1 A3

A6

A4

A5G2

G1

G5

G4

H2

H1
H8

H7

E2

A6

G4

H7

C24#

4#

H1

4#

4#

H8

G1 E1

H2

D2

A5

H7    1X 4#    4X 16#    1XH8    1X

��



S4
M6*16

D2

D1

A2

A1

B1

B2

F1

F2

E1E2

A3

A6

A4

A5G2

G1G5

G4

G7

G6

G7
G7 G7 G7 G7

G6
G6 G6 G6

G6

G7

G6

G7

B2/B1 B8

4#

7X

G6
G7

F2/F1
B8

4#

7X

G6

E2/E1

B8

4#

4#    21X 16#    1X

7X

������������­�­�� ������
���������
������������­����­���������������
�������­��		�����������������

��



S4
M6*16

D2

D1

A2

A1

B1

B2

F1

F2

E1
E2

A3

A6

A4

A5G2

G1G5

G4

G7

G6

J1

J1

J3

J3

J1

J2

G4/G5

4#
4#

2X

J1

G6/G7

J3

4# 4#4#

J1

G6/G7

J3

4#

4#

4#

4#    10X 16#    1X

2X

J1     2X J2     2X J3     2X

��



S4
M6*16

D2

D1

A2

A1

B1
B2

F1
F2

E1
E2

A3

A6

A4

A5G2

G1

G5

G4

G7

G6

J1

J1

J1
J1 J1 J1J1

J1

J1J1
J1

J1
J1

J1

2X

J1

J1

12X

J1

G6/G7
J3

4# 4#

4#

G6/G7

J3
4#

J1

G1/G2

J2

4# 4#

4#    54X 16#    1X

14X

J1     14X J2     2X J3     12X

��



�������­��		����¤�������­����
�����������������	�­������
 �

����
  �����������������������­��
	��
�����­��		���¥
­������������­���­�

��������­��		�����������������������������­�����������
 �

������
����

��



 

�������	��­��­�
��¦����­��		����
���
���­�	������­��	��������������� ���������
����������¤��������§���¤��

��������­��		�����������������������������­�����������
 �

��



��������­��		�����������������������������­�����������
 �


� �����������¡������­�� ­������­��		��		���������­���� 	��������������������������­����­����

��



S4
M6*16

A2

A1

E1

A3

A6

A4

A5

G2G1

E2L1

L2

G5

G4

L1

K1

L1

4#
A6

G4

H7

K1

L2

4#

A5

G1

H8

K1

�¨¨�¨

�������

L1

G6K1

4#

L2

27# E1 E3

4#    9X 16#    1XL2     1XL1     1X 27#    1X

D18/d6

��



S4
M6*16

A2

A1
A4

G2

G1

G5

G4 K1

A3

K2

B2

B1
L3

L4 K2G7

B1

G5

4#

K2

L3

K2

K2

G7

4#
B1

B2

L3
L4

27# B2

4#

G2

L4

K2

4#    9X 16#    1XL4     1XL3     1X

D18/d6

27#    1X

��



M1

M3

M1

M3

M1

M3

M1     1X M3     1X

��



M2

M1

M2

M1

M2

12#

14#

13#
M1

M8*60

12#    1X

M8 M8

14#    1XM2     1X 13#    1X

���
­������	�������������­
  �����
��­������������������­	� ��

��



����­
  �����
�������­����������������������� �����������������	������������������������­ ����		��­���­�����������
�����­­�����		������������ ��¡��������������������		� ­����
��������¡��­����������	��	�������
����� 
������������

��



N1

N1

N2

3#
3#

3#

3#

N1

N1

N2

M6*30

4X
N2     4XN1     8X 3#   16X 16#    1X

S4

��­����������­����­���
������������������������



3#

N1

N1

N2

N3

N3

N3

N3

3#

3#

3#

3#

3#

3#
3#

N1

N2

N3

N3

N3

N3

N1

S4

3#   32X 16#    1XN3    16X

M6*30

4X

���������		�­����­��������������� �­�������� ��



24#

24#
24#

24#

O1

24#

24#

24#

24#
24#

24#

O2

24#

24#

24#

O1

24#

O2     1X 24#    12XO1     1X

O2

��



O1

O2

4#/O3

O1

O2

O3

4#

4#
4#

4#

O3    1X 4#    4X 16#    1X

S4M6*16

��



24#

24#
24#

24#

24#

O5

24#
24#

24#

24#
24#

24#O4

24#

O5

24#

24#

O4

O5     1XO4     1X 24#    12X

MODEL1

���������������
����������­­���	����­����������������������������­����
���������
��­��		���­�
�����
�­��������������������������������­��		���­�
�����
�­��������������������������
�	��­��­������������ ����

��



24#

24#
24#

24#

O5

24#
24#

24#
24#

24#

O424#

O5

24#

24#

O4

O5     1XO4     1X 24#    10X

MODEL2

��



O5

4#/O3
O4

O4

O5

O3

4#
4#

4#

4#

S4

16#    1X

M6*16

O3    1X 4#    4X

��



24#

24#

O6

24#

24# 24#

24# 24#

24#

24#

O7

24#

24#

O6

24#

O7

24#     10XO6     1X O7     1X

MODEL1

���������������
����������­­���	����­����������������������������­����
���������
��­��		���­�
�����
�­��������������������������������­��		���­�
�����
�­�������������������������
�	��­��­������������� ����

��



24#

24#

O6

24#

24# 24#

24#24# 24#

24#

24#

O7

24#

24#

24#

O6

24#

O7

24#     12XO6     1X O7     1X

MODEL2

��



O7

O6

4#/O3

O7

O6
O3

4#

4#
4#

4#

S4

16#    1X

M6*16

O3    1X 4#    4X

��



O1

O2

A1

A2

4#

O1

A1

4#
O2

A2

S4M6*16

4#    2X 16#    1X

��



A2

A1 A4
A3

O2

O1

O6 O7

O4

O5

4#O1

O4

A1

4# O2O6

A2

A3/A4

4#

O5/O7

S4M6*16

4#    4X 16#    1X

��



P3/P4/P5 P3/P4/P5P3/P4/P5


�����������������­����­������������	������������������­���������


��



A1

A2

P3 P3

P4 P4

Q1

Q2

P3

P3
P3

P4 P4 P4

A1

P3
P3 P3

P4 P4
P5

P3 P3P3

A2

P4 P4 P4

����
��	���������

����	�������������������������������������
�����	���������������	�����������	���

Inside View

��	���������

������	���

��������������������	����
�������������������������������������������	����

Inside View

��



�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�
­����­����� �­�����������	����������	�­����������­���������������	�­�
�����
�­�������­��

��­����������		� ���	��������������������������������������­ ����
���� �­����������­����­�������������­�
�����
�­�������­��������������

��

Inside View

Section View



����� �������­�� ���­����������������­��
���������		� ���	�������������� �­�������� ��



�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�­����­����� �­����������

Inside View

����	�������������������������������������
�����	���������������	�����������	���



�����

�����

�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�­����­����� �­���������
��	����������	�­����������­���������������	�­�
�����
�­�������­�� ��



�����

�����

�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�
­����­����� �­�����������	����������	�­����������­���������������	�­�
�����
�­�������­����



�����

�����

�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�
­����­����� �­�����������	����������	�­����������­���������������	�­�
�����
�­�������­��

��



�����

�����

�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�
­����­����� �­�����������	����������	�­����������­���������������	�­�
�����
�­�������­��

��



������

�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�
­����­����� �­�����������	����������	�­����������­���������������	�­�
�����
�­�������­��

�����

��



�����

�����

�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�
­����­����� �­�����������	����������	�­����������­���������������	�­�
�����
�­�������­����



�����

�����

�����

�������­­���	�������������������­��
��������­�� ­���������������­������������		�
­����­����� �­�����������	����������	�­����������­���������������	�­�
�����
�­�������­�� ��



�����

�����

�����

��



�� �

�� �

�� �

�� �

�

�

�

�

��



S�

M�

22#

M�

22# 22#

22#

23#

23#

S�

M4M4*10

S� S�

M�

M�

 21#

21#

21#

21#

21#

21#
M� M�

M�     4X 23#    4X22#    8X S�     1X S�     1X
21#    8X

��



S�

M�

T�

S�

M�

T�

S�

T�

S�

T�

T��      1XT��      1X

��



B�

B�

O�
O�P�

P�

S�

S�

P�

T�

B�

4#

4#

4#

B�

B�

B� 4#

T�

O�

P�

S�

4#    3X 16#    1X

S4
M6*16

���
�

���
�

��­��������­	��������������������������������­��

��



O�
O�
S�

S� P�

P�

B�

B�

B�

4#

T�T�

4#

4#

S�P�

B�
B�

T� T�
4#

O�P�

S�

4#    3X 16#    1X

S4
M6*16

���
�

���
�

��



S�

M�

22#

M�

22# 22#

22#

23#

23#

S�

M4M4*10

S� S�

M�

M�

 21#

21#

21#

21#

21#

21#
M� M�

M�     4X 23#    4X22#    8X S�     1X S�     1X
21#    8X

��



S�

M�

T�

S�

M�

T�

S�

T�

S�

T�

T��      1XT��      1X

��



S�

P�

O� O�

D�
D�

P�
O�

P�

S�

T�
S�

4#
4# 4# 4#D�

D�

T�

4#
D�

D�

4#    4X 16#    1X

S4
M6*16

�����

�����

��



O�
O� S�P�

P�
S�

D�

D�

O�P�

S�

4#

T�

D�

D�

T�

S�

4#

T�
T�

S�
P� 4#

4#

4#
D�

D�

4#    4X 16#    1X

S4
M6*16

�����

�����

��



�����������
�����������­��������������������		����
�����­�� ����­�­�� �
����­�­�� ����
���­����		������	�­����������		����������������������
­��  ���
��­��
	�������­��		��������	�������­�������� ��������­
�������

��



SILICONE

��



�����������
�����������­��������������������		����
�����­�� ����­�­�� �
����­�­�� ����
���­����		������	�­����������		������������

��



��­��		�������� ���	­�����	������­�
����­��������­�� ��¡���������
����������� ���	­������������¡����­���		������ ��¡��¡����	������

��








